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4228 MM S1t= 2,890,000 2,890,000 2,724,589 165,411
4229 Klgs+= 8,500,000 8,500,000 5,170,281 3,329,719
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1241 M Wt E S FX| = 0 0
1242 X ES K& 1,000 1,000 0 1,000
1243 7|00 =X|= 0 0
1249 7|EtXHAEX| = 0 0
1250 ¥a 87|25 E 2,000 2,000 0 2,000
1252 MR 25 Y 0 0
1253 A Edd=7 |28 1,000 1,000 1,000
1254 AZ RS HY 0 0
1259 |IFEMTIE|ZHE 1,000 1,000 1,000
1260 Y273 X E 344,855,000 344,855,000 344,855,000 0
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1312 A= 0 4| 1,000 58,470,000 58,471,000 58,470,000 1,000
1313 +HS0fH| 1,000 259,530,000 259,531,000 259,530,000 1,000
1314 7| A 7| 701 & 16,000,000 16,000,000 13,958,220 2,041,780
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2200 DL X o2t 25,001,000 25,001,000 25,000,000 1,000
2210 7| Ateadet 0 0 0 0
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